RATH2230 Conplet loriablos with Aplications

Homeworé. 2
(due on Sept. [9)
Sect . 1% No.5,(0.1]
Sect . 20 No.8.9
Sect .24 No . 2-
L. SRow tht the function
fl®=%)*

fos the volue [ ob oll renzero poits on e real aad imoginary axes. woflere &= 5,0
ond Z=(0.4) r;;&}zsectfue%, bit thit it fos the wlue —| ob all mmasro posnt om
the lne =4, where 2=(4.%) . Thia Sow thit the linit of (=) oa Z tenda to
0 coer not efiah . [Note that & & not sufficiont t» simply omsidler ponzeto. poits
2=(h0 ond E=W, P, a4 & wes m Lromple 2, Sec. (5. ]

10. Use the thestem m Sec. 1 o dow thab
. _uE . o
O B Er =t BlgaEmee Ok B
1. With the oid Df te Htheorem m Sec .|, Ko Hiot when
T2) =& (od “he 0)

(o) EL,'T,&TCE)=00 (fc=o0,
(8) ¥ T@® =2 ond 52 T® =00 if C#0

Sect . 20  Exeroued
8. lse the method in Lomple 2, Sec.|9 . 4 sfow thol ['() does nat et ot omy

port 2 witen
(o) fz) =Re (h) ftz)=1n 2




62  ANALYTIC FUNCTIONS : = _ o CHAP.Z_

Let f denote the functioﬁ whose values are SRR
A Z%/z ‘'when z#0, .
f@= { L
. ; 0  when z=0. _
Show that if z = 0, then Aw/Az = 1 at each nonzero point on the real and imaginary
axes in the Az, or Ax Ay, plane. Then show that Aw/Az =.—1 at each nonzero point.
(Ax, Ax) ontheline Ay = Ax in'that plane (Fig. 29). Conclude from these observations
that f’(0) does not exist. Note that to obtain this result, it is not sufficient to consider

only horizontal and vertical approaches to the origin in the Az plane. (Compare with
_ Exercise 5, Sec. 18, as well as Example 2, Sec. 19.) ' :

Ay
(Ax, Ax)
©,47) % LI
. ' FIGURE 29




Date

Sect. 20 Exercises ,
2. Use the theoten in Sec.23 b Row thit @ and da deiivndie ' erist everyufere
ond Find "G wfien ‘
@) f&=1iz +2 ) f)=c"eH
) F@=2* (d) =)= cmx oaRld —isia X snf &
Ans. ) F'(z)=f@), () f" @) = =f &)




